I 11}
%
&
|
Supply Demand
Price [P] Price [P]
. supply 1
P4 E E R /'
Paf
%Y T e .
P A demand
| g
al Qz a3 o a4 o3 Qz o
Quantiy [Q] Quantity [Q]

.
acg gazetle ©AceGazette.com




)
!
_ox
) ! n n
( $ ! n
- ) n ! / n
) n !
|
&
. W
Price [P] acfgarette
@ AcaGazells.com
supply
P4 demand shift 2
Excess Supply
P4 [ : iNU Buyers} supply shift 1
P3 \
uniiibrium
dP3 : | supply shift 2
------------------------------- ! Excess Demand
P2 f [No Sellers]
E \ demand shift 1
dpz i - \ supply shift 3
P1 : - \
dP1 E ¥ supply shift 4
! \demand
- # Quantity [Q]
a1 Q2 Q3 Q4
1 n $
!
o/ / $+
' -1 -1
2 ! P /
$+ 3 '
| |




Forex Spread 2010
Market share of foreign exchange trading . 2011
40%

10 ..

TR VET

Notas: “"Other financials’ includes broker,/dealers and credit companies. Based on responses from
1,632 glabal top-ther fareign exchange users in 2011 and 1,563 in 2010,

Source: Greenwich Associates

0!



&)

% !

6 75657 65756

89



6.9 120:50




B . !
6 75657 65756

6.9 120:50

6.9 120:50




Lets consider this as our live chart. Price made hh. We can see a new supply zone with a
tiny bear engulf. Things are looking promising. If we are trading new zones without
waiting price going down to next demand zone and coming back to retest the supply,
we'd most likely take the sell on here with a stop just over the supply zone.

However, as you can see on previous same chart our stop would have been hit. We had
a zone and PA config but still lost. You have to understand and accept not all zones will
hold. Otherwise, as long as you can define zones correctly trading would be all win -
win, risk free.

entering a trade when a zone establishes is not the conventional S&D
trading-entry. Conventional S&D-entry is when price comes back to the zone not just
after it formed.

$+

Still, would there anything that we could possibly avoid or ques|
entry { zone. Lets draw a horizontal line at hh and check left.

And we found that line has been spiked on 29 Feb 2012. It would
have at least create a question mark for our sell order at this
zone. Lets draw another herizontal line from 29 Feb 2012 hh.

As you can see 29 Feb 2012 hh line [green] cuts
through middle of new supply zone. Also notice
how previous hh line [red] acted as a current
resistant line. It usually pays well checking
history.
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TG 4 [TG3 for entry 2]

TG 3 [TGZ for entry 2]

TG 2 [TG1 for entry 2]
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Looks like we
found a zone
here

1U

M

Drawing the uper line
at on the high of the
cluster

Byt

Drawing the lower
line at the low of
‘tlhec:luster

Upper line at high

n Upper line at
| candle's
open/close

I Looks like
| we found a

Iﬂllﬂ‘h zone...

1'“r|!|

ly

Drawing a line at the high
and low of the cluster

Drawing the
} upper line at
u the candle

bodies

[open/close)

Drawing a line at the
Low of the cluster

6 75657 65756



6 6
565 5 6 5

65 6 5
56 5 6
B +
'H
Drop \|| hl
i
Base_* Rally
D }
P bty XT? Base
a




B! CE !

& (&
C I C,
! , + I I C,
C .
J* * K" ! C &)
! I C,
I C, J K !
! + I (119
(219
) " - +
I C, 0] !
! !
+ &
C
I C, !
+
1ol
''$
! C !
I I
) / 0
!
i,
T++*
hhMl |
L -
Wi L
Previous Demand b 0 '
Braken/_ﬂ- |J ?lhilﬁ

Move away from the
broken Demand



I
00 Hmﬁﬂ iyt | m uw |h| |
i 0
— :
”U'i"' un rabaiiy e

C I C + 3 (O
%
! " C
o
H |n'+w
‘ lsi;:TlauI;etlz: the swap
. m ﬁ“dltuwf'hlu“ N
I
M il 'i ﬁ} ey l', I, .
'u?qTH !~|w‘|‘m T*fh' nii*l'|“1|‘f|"."m‘ ‘|' |J_~+ ufﬂ,{.ﬂ ! h +Il ‘NL | ‘*:!u Y!u:zte ::::::::
|me | /
T (W’iu Buy here
w i ) ~ T isk
the yellow drde because it # W{* " ! 7
eeeeeeeeeeeeeee [cleare 'u ‘|’+++H - . Stop Loss under Im'.relr clluslter line
"$
"$
$ |



34856

2

+

&5%$0

7

) *EH2 *

9

< )

-]9; < =1 "1y

> ..“_
m ..r

' _._..:._,._.

i B

‘ -4
\ .W.,.."f__hdr N .__n-.v_. -

&)

%

# %

%

%

%



Price

LS !

6 —
)t <
) " < (11
n L M *
LM I L M
& ! ! .
#H>
< = < ' _)lll 9/
2 11}
6
B +
! L MII
6 L !
#> 5
$ n



(7))
1

Iﬁ\{::\

5

A

%

%







3>&56

$ I*

#

SENQEIE 792,00 755 7030 179075
Totay 23050 | ATRZ 348 | ATR Projsain Up = 282318 | ATR Prjecton Down = 276432

resistance

support

Fxero T4, © 2001

resistance
Y|

resistance

support

support

2788

256955

28440

5965

a4

0960

s

=90

w478

as965

70

251978

1465

250970

250475

s

s

90

2ress

590

s

e85

s

o5

orp. 273,
4 Aug 2012 24 Aug 2000 37 Aug 1345 15 Aug 0630 35 Aug 2200 5 Aug 1515 30 Aug 0500 31 Ao 005 31 Aug 1645 351030 GSer0eds SSep0i30 55w 1730 ESepiDIS TSep0300 75ep 1300 105epines 115ep050 11Sep210 125ep 4iS 13Sep0700 135ep2300 145ep 1600 17 5ep0nes 185ep 0200 185ep 1830 195ep 1LiS 305ep0600 305e52000 31sen 1245

* 7 !
6 L M
!

*



) ’
, C /I 6 " "
*
| " |
$! IE |= 2
% % ) (
$ # % '
# % $ %
# % ( %
$! IE |= 2
% ) ( (
$ # %
# % $ %
# % (

|mﬂ It h

ml»“’ W“ M

V'gﬁ

i.i

M4, @

zone of resistance/supply

nW
" ’lm.IYx.'m“'wﬂ‘"«ul"l«'mMI i
t l ’

i M '"‘
Olv'"‘|u w ||x|||'“ W

M"mﬂh

by

-omn ut ﬂl

|
».m.ﬂ'.”ﬂ /
M‘w ?W i ﬂlﬁﬂ

zone of support/demand

Ixﬂ'v W.'yl

Wu

w
o wil=
\’m.,\ ‘E??i

!
5 -
<
811
"$ $
?
"$ !
?
SRS "$

!
*
B =
" 1 2
$
" (12 A "
(111 A2 L%
;11" (111 A
AO

£

zzzzz

zzzzz



(111 "
/ ! (111
" #
(111 811
$ ! (111
* 6
! / "
3 7 * |
2
&
$ <
! [
I $ $
! L
! ! M"
6 | * ' I
! * !
!
M*”"**l b
nu*\ I
N
fi
i o L M
"l,uﬂm I\TO iw mmohw‘ounivD*l"u" i,ﬂ'l ﬂ ﬁh.aﬁ‘[ﬂ‘?
M‘l ‘ 1 M Ulm 'U n+"‘ O.M r i
U‘”U | "ﬂ‘ 0' | | 60’ support / demand
‘wa W“* *ﬂ“ ? h‘lmgﬂ“ﬁm”*i' OW!”OWU
!
&
$ ) L M |
| " *
n | '
i ) |

BE 33
B 2 2

§ B B B ¥ O§oBoBOEOEEEEE
ik & & b ow 5 o8 oA & &



;;;;;

;;;;;

2830

zzzzz

R ! ? M Q
TR e U”H sssssssssssssssss W'
[ \uw i W W
w‘ " |Hﬂ "ﬂ"’ “ f |\ormﬂ‘|y I?|
ity | m
i | °“ "“
wa ”o Wl‘uwm‘“m i " "ﬁu
“ My W |
| | !
/6 I6 7! ’ I
.. |!& . ! s
)



$ 045C4

[EURUsD I 126327 1asses 3 LTS
Todey 21212 | ATRZ102 | ATR Bromeon Up = 1294

bro
sttt lm

[Fxero T4, © 2001201

DHHUMM‘M'

ATR Projecion Down = 1.2857

resistance x4

W ‘“

I b

I

il
W

ﬁ

|
ﬂ*aﬂni liﬂ‘ﬂ*'h,ﬂl‘iﬁnh

Han

broken

A 012 35 Mg 215 30 AgONIS 30 A OIS 30 A 0515 30 A 0715 50 A 055 30 Aug TS 30 Aug 5 30 Aug IS5 30 Aug 715 30 Aug I5HS 30 A 25 30 Acs T35 31 A 015 31 Aug 0315 31 Aug 0515 31 Aug 0715 31 Aug 0915 31 g 1105 31 g 1305 31 Aug 1515 31 Aug 105 31 Aug 1505 31 A 2005 B A 205 SSep0its SSep0as Ssep0sas Ssesias

[EURUSD T 1ot Lasses 1aesat 12873
Todey =112 | ATR=102 | ATR Proacion Up = 1294

[Fxero T4, © 2001201

ATR Projecion Down = 1.2857

support

broken

126045

raes

1205

126208

126145

125085

L2028

1255

125508

12845

L2788

sasms

125665

125608

125545

1asiss

12508

12536

L2308

125265

sastss

s

125065

125008

126545

sasses

asas

s

1070

a0

190

13830

1

1m0

e

131940

13150

13140

130740

129940

sassse

128750

L2350

17950

s

160

126760

1260

12550

Lassec

125170

120770

L2070

Feh202 14Feh 1300 17Feb0500 51Feb2000 36 Feb 1300 59 Feb 0500 5200 7 Mar 1300 52 Mar 0500 56 Mar 2500 15 Mar 1500 22 Mar 05100 36 Mar 2200 5 Mar 1900 3 A 0500 5 A 2200 10 A 1600 13 A 0600 17 A 2200 50 A 1600 55 A 0G0 57 A 2200 5y 1600 7 May 050 5 May 2200 54 May 16:00 57 May 06:00 31 May 22:00 35 May 14100 35 My 06X



"$ |

*$#2



$
B
2 0
&) & )
0
0
0
+
B
$
-0
C

&)

%

&) L&
!

)

M



USCCADMIS 1420 LA1T0% LOLIT) L0138

fomed supply FDNOW the ween \mes and you‘l see that price came
back and filled those orders, dropping price further. This is no longer a

With no supply left, price is free to slide up
through the compression, as all the opposing
orders have already been filled. See where the
origin of the compression is? That's the tg, and
in this case, it got hit perfectly
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